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(8 points : 15 minutes)
1. Do carpool lanes save commute time? Use the results of the experiment below to test the claim
that using the carpool lane causes the average commute time to be at least 5 minutes less per trip.
For the experiment, 6 randomly selected routes from the suburbs to downtown were selected.
For each route, the time required was tested using the regular lanes and using the carpool lane.
The data are given below. ‘gse a Type | error rate of 0.05 for the test. .—%> ¢ = 0.05 ‘7
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2. The data are from an experiment to compare the effect of natural vitamins to synthetic vitamins.
Six patients participated in the test. Each patient used the natural vitamins for 6 months and the
synthetic vitamins for 6 months. The data are measur "energy level."
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